1.

24714 o] Yol B a 7] FokA 2.

~

~

--800ecm---""

-

—

2:50(:m



#0] Zol7h 10m A AR ] Hol S upes] tehd 28 ol

3t 4

A7

D 100cm? @ 1a @ tha
® 1km?

@ 10m?



(2) 34000000 m? = |

5 J=X
=%
D S
=%
=
=F



4.

[ Jotel Sl e 48 ez 2402,
(1) 24 km? =| |ha—| |a:
(2)86ha=] Ja=] jm? = Jlem?

5 J=X
-
&=
-
&=
-



A= Mo e,






7.

il

[ Relage s

25000000m2 = | |km?

D R
=%

2l

oL,
o



a

© m?

@ cm?

@ km?

ol ol oF 360 |

ha

="






10. O ¢gtoll >, =, <& g9A A oA Q.
5ha O 5000 m?

5 S
=



11. $099] o]z} sm o], ool o]z} 14m , ol7 9m < Abeh
22 mapo] o] gt of Wo] ol Wm? 917 kA 2.

B .

Hir






il
w_L

~
oW
~

!

3. [ ]
erofl 5ol

27t=[ ]
g




S EE

A= Mo e,



15. =5 %

® ©

EEMEES
Apo) 7

kAR 10 W] 7]

AL (t) 2z ezl 7Hg &

d

o o
re 718 of i 519)

A

@ & 7 7o) 2

@ E29] 5



16.

t TS ARESH] YeEr 7ol 7 Lk

®© ® ©@ ® ©

EESEES
7o) 27
50| 7
BA7]0] 27

3 £ Repe] Y T



17. O¢gtoll >, =, <& g9A A oA Q.
0.6t O 6000 kg

D L
=



18. &3t 2] FA= 20kg ¥UTH & 100 Ztfe] FA= 2 t A
oA L.

> R t



19.

[ [t gore 22 Atz Ao,

() 540m7 = Jews?
(2) 20300000 cm® = |m?
(3) 4000000 m? = ]km?



20. [ ko] 9o 45 et Ao,

M14a=[ Jm*=[Jha

(2) 2.03km? = | lm? =| = |ha

5 J=X
=%

D S
=F
=

-



21. o F Hele &9

i
e
o

MR e ol AU

D 2km? = 20000 a @ 6ha = 60000 m?
® 40km? = 400 ha @ 500ha = 5km?

® 70000m? = 7ha



22. thg % =) el 2L ok AU

@ 3.6ha = 360m?2 @ 46 a = 46000 m?
® 240a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a



23. o= =49 A4 FAE A4 kgt 102 A= 2AL,



@ 540g2] 10000 H1= 5.4 t L Th.
@ 350kg+4.7 t= 820 kg

® 570000g + 0.043t = 613 kg

@ 5kg2] 10008]= 5t AUt

® 420kg 2] 100 Hi= 42t 4Tt



25. FA7Y 35kg AT AFUH o] AR 40079 FAIE B ¢ A
TIHA L.

> R t



